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I will give a good example for this. Let's say you have a cultural evening at your college. And
you want your dad or mom one of them to be present. Now this is a very ambiguous statement.
So you go to your dad and mom and you will say dad and mom I have something to tell you. I
have a request to raise. There is a cultural evening in my college. I want dad either you to come
or mom you to come. One of you should definitely come. Now analyze this statement properly.
What do I mean if I go to my dad and mom and I say dad you come or mom you come. It
sounds something like you have only one entry pass and you want dad to come or mom to
come.  This is  why English  is  a  very ambiguous language.  You see.  You might  even mean
definitely one of you should be there. Dad you have to come or mom you have to come. It
should not so happen that both of you are missing. In that case, all that you are saying is I want
both of you to come but it's okay if you one you cannot come. One of you should be there. One
can miss but one should be there. Okay. These are two different statements. But an OR operator
is basically the first example I gave you which is dad mom listen to me. I want dad either you to
come or mom you to come. I will be happy if both of you come. That is precisely what is OR
operator. If both of you don't come I will be unhappy, 0. 0, 0, 0. If dad doesn't come mom
comes fine I am happy. Satisfied. My criteria gets satisfied. Dad comes mom doesn't come, still
fine I requested one of you to come. Both dad and mom comes then it means I am happy. 1 or 1
is  1.  So an OR operator  stands  for I  want at  least  one of you to be present.  Let  me now



introduce you all to what is called an OR operator. O-R, OR. So what is it? Let me write all
possibilities. 0, 0. 0, 1. 1, 0. 1, 1. Okay. 

OR simply means one of them should be true. Correct. So 0 or 0 means neither of them is true.
So the answer is 0. 0 or 1 means 1 because one of them is indeed true. Correct. This one is true.
1 or 0 again is 1. 1 or 1 is again 1. 
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